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33 |mn#ke 592 [k =R | 3 | 8.350 | 7.700 | 8.100 | 8.500 | 32.650
33 |k 113 |ZE A% | 5 | 9.200 | 8.200 | 7.000 | 8.250 | 32.650
35 |usJgym 561 |#&FE ®5Z& | 5 | 8.750 | 7.250 | 7.900 | 8.550 | 32.450
36 |EndETH 22 |3 mmzEs| 5 ] 9.300 | 7.700 | 7.200 | 7.900 | 32.100
37 |EndET 23 |Bm =z | 58900 | 7.500 | 7.300 | 7.750 | 31.450
38 |nt % M1 |HE it | 6 | 9.150 | 7.350 | 6.950 | 7.700 | 31.150
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47 |E&E 542 |we®5 FifE | 3 | 8.550 | 5.400 | 7.250 | 7.750 | 28.950
LEA - 3E4LUT] _ _ _
JI 43 F ryhyl  E sEl BE | BRE | EHE ] Tvk &3
W&Eu.‘ L) i??%’aa ZEEI] 3 [ 9.200 | 8.000 | 8.450 | 0.300 | 34.950
2 |Fsc 483 | L@\ =&4%4| 3 | 9.250 | 8.400 | 7.700 | 8.700 | 34.050
3 |Fsc 484 |/vig #3E | 2 | 8.950 | 8.200 | 8.150 | 8.550 | 33.850
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6 |USJGYM 563 [2=)1 = | 3 | 9.000 | 7.350 | 8.350 | 8.450 | 33.150
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